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B.Com(H)/Part-ll/AH3

- 2019

'Advance Financial Accounting

(Honours)

Paper ~ AH3

Full Marks —~ 100
Time : 4 Hours

The questions are of equal value for any group / half.
The figures in the right-hand margin indicate marks.
Cfndidates are required to give their answers in their
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own words as far as practicable.

llustrate the answers wherever necessary.

Give answer of any three questions :

a)

b)
c)

d)

3%6

What is the procedure of setting Accounting
Standards in India? 6
Write a short note on Indian AS7. 6
What do you mean by IASB? Why it has been
formed? 2+4
What do you mean by Accounting Standard?
What is its importance ? 3
Give the objectives of IFRS.

Write a brief note on the implementation of IFRS

in India.
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GROUP - B

2.  Give answer of any four questions : 4x4
a) Distinguish between Amalgamation and
Absorption.

b) What do you mean by Average Clause? Give
answer with example.

c¢) Distinguish between Ex-Interest and cum-Inter-
est.

d) Show the journal for the issue of 10% Debenture

of Rs. 100000 at 10% discount and to be
redeemed at 15% premium.

e) What are the qualitative characteristics of Finan-
cial statement?

f) Is there any relation between super profit and
goodwill? Discuss.

3. Give answer of any four questions : 4x8
a) PBM Ltd. insured a loss of profit policy for Rs.
20000. A fire occured on 30.12.2018. From the

following particulars calculate the amount of
Insurance claim. Sales for the year ended 31.3.18

is Rs. 360000/-. Net loss for the year ended

31.3.18 Rs. 60000/-. Sales during the period of

dislocation from 30.12.18 to 30.3.2019
Rs.10000/-.

Insured standing charges Rs. 40000/- Total stand-
Ing charges Rs 100000/-, sales during the last year
to the period of dislocation on Rs. 60000/-. Sales
for the year ending 30.12.18 Rs. 600000/-.

b) TB Ltd commenced business in the year 2014
with a paid up capital of Rs 2,50,000/-. During
the last five years the company earn profits
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before income Tax (assume 50%) Rs 61000,
Rs. 64000/, Rs. 72000/-, Rs. 80000/- and
Rs. 86000/-.

The total assets of the company was Rs
5,00,000/- in the year ended 31.3.2019 with
external liabilities of Rs 170000/- and the
goodwill was Rs 30000/- with the total assets.
The company pays 10% average dividend
during last five years and this rate can be
considered as reasonable expected return.

Ascertain the value of goodwﬂl from the

above information.
The balance sheet of SG Ltd shows the following
position as on 31.3.19.

Rs. Rs

‘| Issued Capital .
' (of Rs 10 each) 4,00,000 Fixed Assets 500000

- General Reserve 90,000 Goodwill

|
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40,000

P/L A/IC 20,000
10% debenture 100,000 Current Assets 2,00,000
Creditors 1,30,000

7,40,000 7,40,000

As on 31.3.19 fixed assets valued at Rs. 3,50,000/-
and the goodwill at Rs 50000/-. The net profits of the
company during last three years were Rs. 52000/-,
Rs. 53000/- and Rs.60000/-. The company transfer
20% to reserve. The fair rate of return may be taken

at 10%.
Calculate the value of shares by

(i) Assets Backing Method and (ii) Yield Method.
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d} The following balances are appeared in the
Balance Sheet of SB Ltd as on 31.12.18.

Rs. Rs
Redeemable Prof. Share Cap.5,00,000
(of Rs 100 each)
Ln: Calls in Arrear on 500 shares—10,000 490,000

Dlevelopment Rebate Reserve 2.00,000
Share Premium 40,000
General Reserve 3,00,000

Preferance Shares to be redeemed at a premium of
10%, The arrears shareholders are not traceble, Rs
50000/- of Development Rebate reserve is free for the
distribution of Dividend. For the purpose of redemp-
tion, the company will utilise the General Reserve and
Share premium fully and the balance to be financed
by the issue of equity shares of Rs 10 each at par.

Show the necessary journal entries.
e) What do you mean by Dead Rent in Royalty
Accounts. How the Dead Rent is treated in the

book of Landlord in different siturations. Give
your answer with imaginary figures.

f)  Define Amalgamation and Absorption. What
entries are passed by a company to close its
books when it is absorbed by another company?
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4, que answer of any two questions : 2%12

a)i‘ From the foilowing informations prepare consoli-

dated Balance Sheet as on 31.12.18.

A Lid B Lid A L B Ltd
|
Rs Rs Rs Rs

|
Share Capital 5,00,000 | 1,00,000 [ Fixed Assets |4,00,000 60,000
(of Rs10 each)
Reserve| 60,000 30,000 | Siock 3,00,000 1,55,000
PILAC 2,00,000] 60,000 | Debtors 1,05,000 85,000
BP : —| 15000 |BR 20,000 —
Creditors 1,40,000] 895,000 [ Investment in

| B Ltd 75,000 -

|

. 9,00,000 | 3,600,000 9.00,000 3,00,000

Additional information,
i) Onthe date of holding by A Ltd, the balance
1 of Reseve of B Ltd was Rs 30,000 and all
| the profit earned by B Ltd since it were
| acquired by A Lid.
i) All the B/P of B Ltd are in favour of A Ltd.

I i) The stock of A Ltd includes Rs 25000
purchased from B Ltd at a profit of 25% on
! cost.
E) The AlLtd and B Ltd are two companies carrying

business in the same category. They decided to -
amalgamate and form a new Company called AB
' Ltd. From the given information show the journal
. entries to open the book of AB Ltd and the New
Balance Sheet resultant therein.
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Altd B ltd Alid B Lid
b—
I Rs Rg Bs Rs

Equity Share Capital
(of Rs10 each)6,00.000 12.00.0001Fixed Assets 8.00.00013.00.000

Reserve 400000 1200 000lovestment  1.00,000 —
Martgage loan 6 Qo000 11,00 0001Stack 9000004 0nan
DNehtors 200000[1600
Current Liabilities6,00,00014,00,000 Bank 1,00,000] 1,00,000
! 22.00,000 |9,00,000 22,00,000{9,00,000

Further information,

i) All assets and liabilities to be taken by AB
Ltd except investment of A Ltd which was
sold by A Lid at a profit of 10%.

i) The value of equity shares of ALtd and B Ltd
are Rs 15 and Rs 25 respectively. '

i) AB Ltd issued 5000 equity shares of Rs 10
each at premium of 10%

c) What are the requirements for preparation and
presentation of company final Accounts? Give
the requirements as to Profit & Loss Alc as per
Company Act of India.

(Internal assessement : 10 marks)
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